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High speed train are indeed fast. TGV covers 280 kilometers in 100 minutes. The

regular commercial flight time for 300 kilometers in 70 minutes. However we

need more time than flight time in order to move downtown to downtown. The

total is 175 minutes. Acela isn't efficiency. Pioneer Zephyr is a 600-horsepower
diesel-electric unit. It could run faster than today's Acela, with 124 km/h. @
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"High speed train are indeed fast."
"High speed trains are indeed fast.; @ B# - BO—HITFR U X
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"TGV covers 280 kilometers in 100 minutes."

CZICHEEIRBDD F-AD., KDXIRZRMEICT D76 The TGV, %
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"The regular commercial flight time for 300 kilometers in 70 minutes."
"The regular commercial flight time for 300 kilometers is 70

minutes.; : beBIFENHE T,

"However we need more time than flight time in order to move downtown to

downtown."

"However, we need more time than the flight time in order to move
from downtown to downtown.; : EEz "they &BIEE Mfromy Hh
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"Acela isn't efficiency."

FAcela isn't efficient.; : FERFHAZIELSHEWVWEXL & S,
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could run faster than today's Acela, which could complete a journey in
less time despite being an older model.; & Wo>/cNBZEZHHEKNWT
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just 110 km/h despite the need for speed in urban areas.; DK D ICEEEAT
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High-speed trains can travel 280 km in 100 minutes.
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1. Although/Though ~

#1: Although high-speed trains are fast, they are not available
everywhere.

2. Even though/Even if ~

%1: Even though cars can be convenient, they are less energy efficient

than trains.

3. Despite/In spite of ~



